>

_Example for solving and graphing with step function:

(> Fi= t—t —t-Heaviside(t —4);
F =1t t—tHeaviside(t — 4) €))

> plot(F(1), 1=0.8);

1 2 3 4 5 6 7 8
t
(> de == diff (y(t), 82) — 2-diff (y(1), 1) +2-y(t) =F(1);

2
de = 4 y(t) —2 4 y(t) +2y(t) =t — t Heaviside(t — 4) 2)
dtz dt
> dsolve({de, y(0) =2, D(y) (0) =4}, y(1));
t
y(t) =2 etsin(t) +3ecz$(t) 3
- r—4 ..
n ((5005(t—4)—4sm(t—4))e —t—l)HeaV151de(t—4) +L+L
] 2 2 2
> z = unapply(rhs(%), t);
t
zi =1t 2etsin(t) +3602¢m 4
_ i . _ t—4 f ol _
n ((5 cos(t—4) —4sin(t 4))26 t 1)Heav151de(t 4) +%+%

=> plot(z(t),t=0.6);
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